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Multiple Choice Questions
dotandk

1) Which cost increases continuously with the increase in production?
a) Average cost v~ =
b) Marginal cost*
c) Average variable cost curve -
M Average fixed cost curve

2) The vertical difference between TVC and TC is equal to:
a) MC
w3?\& TC-Tve +TFC
ae T¢- Tver TFC

d) None of the above

Multiple Choice Questions

“3) Which of the following statements is correct?
a) Fixed cost vary with change in output x
b) If we add total variable cost and total fixed cost we get the average cost X
c) Marginal cost is the result of total cost divided by number of units produced 1(%:
._,d-)"[fj_tgl_gpst is obtained by adding up the fixed cost and total variable cost

1) Marginal cost changes due to changes in
a) Total cost L“'é.
b) Average cost
Variable cost
d) Quantity of output




Multiple Choice Questions

"é) In figure below, possible reason why the average variable cost approaches the
average total cost curve as output rises is: o

Cuamntity

r

a) Fixed cost are falling while total costs are rising at rising output
b) Total costs are rising and average costs are also rising

c) Marginal costs are above average variable costs as output rises

erage fixed costs are falling as output rises.

Multiple Choice Questions

76) Economic costs of production differ from accounting costs of production
because: Rent
- : : . : v hen . :
a) Economic costs include expenditures for hired resources while accounting costs
do not. A
ﬂﬁccounting costs include opportunity costs which are deducted later to find
paid out costs.
¢) Accounting costs include expenditures for hired resources while economic costs

do not. A Qm?lud m‘t
_d)}PConomic costs add the opportunity cost of a firm which uses its own resources.
—— ———




Multiple Choice Questions

7) Implicit costs can be defined as: e e
a) Money payments made to the non-owners of the firm for the self-owned factors
ergployed in the business and therefore not entered into books of accounts. )&
oney not paid out to the gwners of the firm for the self-owned factors
employed in a business and therefore not entered into books of accounts. v
c) Money payments which the self-owned and employed resources could have
earned in their next best alternative and therefore entered into books of

accounts.
d) Money payments which the self-owned and employed resources earn in their

best use and therefore entel:ﬁd.Ll:lJ‘.Q.bm.ks of accounts. 3n‘|f mt«'(

Multiple Choice Questions MC-20AC-K AL
8) The marginal cost for the firm of producing the 9" unit of output is Rs. 20.
Average cost at the same level of outputis Rs. 15. Which of the following must be
true? r

A Marginal cost and average cost are both fallmg
_‘/bearglnal | cost and average cost are both rising «”
¢) Marginal costisrising and average cost is falling &
) It is impossible to tell if either of the curves are rising or falling

9 en marginal costs are below average total costs,
a) Average fixed costs are rising MC <AC Acl
Merage total costs are falling S —
c) Average total costs are rising
d) Average total costs are minimized

MC-AC

x




Multiple Choice Questions

>

10) " Which of the following statements is false in respect of fixed cost of a firm?

(a) As the fixed ing_ut-s for a firm cannot be changed in the short run, the TFC are constant, except
when the prices of the fixed inputs change. = i
-_— ===

A TFC continue to exist even when production is stopped in the short run, but they exist in the
long run even when production is not stopped. _

(c) Total Fixed Costs (TFC) can be defined as the total sum of the costs of all the fixed inputs
associated with production in the short run.

(d) In the short run. a firm’s fixed cost cannot be escaped even when production is stopped.

Multiple Choice Questions LS AF—&’;" Afc- 120.3p

l—— '

- v : '
19 A firm's average fixed cost is ¥ 20 at 6 units of output. What will it be at 4 units of output?

(@ 60 oy~ 230

(c) 40 d 220

1/2] A firm has a variable cost of _1000 at 5 units of gutput. If fixed costs are I 400, what will be the
average total cost at 5 units of output?

== TC- 1400
_.(a-)/ T 280 (b) T 60 S
(c) T 120 (d) < 1400

9/25/2023






Multiple Choice Questions
TC=150x1 . (050 3

wr
13) A fim producing 7 units of oulpul has an average total cost of ¥ 150 and has to pay

is made up of vanable costs? AFC- So AVe

(@  T200 | o0
(c) < 300

TC - 1500
"1/4] A firm'’s average total cost is Rs. 300 at 5_units of output and Rs. 320 at 6

units of output. The marginal cost of producing the 6'" unit:
a) Rs.20 P—

b) Rs.120 Chont in TC
c) 320
s.420

¥ 350 to its fixed factors of production whether it produces or not. How much of the a ost 450
>V | faciors of p or y}aon_m&al.c

Multiple Choice Questions

15) Suppose output increases in the short run. Total cost will:

(a) jncrease due to an increase in fixed costs only A

increase due to an increase in variable costs only.
(€) increase due to an increase in both figﬂ and variable costs.

4] decrease if the firm is in the region of diminishing returns.

L¥6) Which of the following statements is correct conceming the relationships among the firm's cost
functions? N Ic- Tec
(a) TC=TFC-TVC. () IVC=TFC-TC.

Jg/ TFC=TC-TVC. (d  TC=TVC-TFC.




Multiple Choice Questions
”

17) Which of the following is not a determinant of the firm's cost function?

(a) The production function. (b) The price of labour.

Scling brid
(c) Taxes.T A‘(;L)/ The price of the_ﬁﬂn_’ﬁ_gum\] F:""

—

18 ' ' i ionshi ions?
) Which of the following statements is true of the relationship among m_g. average cost functions’

(@ ATC= @TAvc. (b)  AVC = AFC + ATC.
() AFC=ATC+AVC. d)~""AFC = ATC - AVC.

Multiple Choice Questions

M Which of the following is trug of the relationship between the marginal cost function and the average
—cost function?

(@)  IfMCis greater than ATC, then ATC is falling. §

(b) The ATC curve intersects the MC curve at minimum MC.
The MC curve intersects the ATC curve at minimumn ATC
(d) If MC is less than ATC, then ATC is increasing. 'V

Marginal cost is defined as:
the change in total cost due to a one unit change in output. ~
total cost divided by output. A&

the change in output due to a one unit change in ﬂiﬁ-

total product divided by the quantity @
e — ———




Multiple Choice Questions

21) Which of th following is an example of an “implicit cost™?

_ Interest Ihat could have been eamed on retained earnings used by the firm lo finance

—————

expansion.
(b)  The payment of rent by the firm for the building in which it is housed.

(c) The interest payment made by the firm for funds borrowed from a ba_nj(.-&thd \
(d) The payment of wages hy the firm.

22) Which of the following is an example of “explicit cost™ Mw;

(a) The wages a proprietor could have made by working as an employee of a large firm.

9, The income that could have been earned in alternative uses by the resources owned by the

'lﬂ“‘ Sat -

Wyment of wages by the firm.- 8\%

id) /e nomal profit eamed by a firm

Multiple Choice Questions

Use the following data to answer questions 23-25 ﬁ]-C- 240(2- (120

Output (O) 0 1 2 3 4 : 6
Total Cost (TC) | T 240 < 330 T410 < 480 < 540 T 610 T 690
v — ; 7
23) The average fixed cost of 2 units of oulpylis -

(b) T 85

d 2205

?ﬁ} The marginal cost of the sixth unit of output is :
(a) T133 (b) °75

/LF-\/ 280 (d) 7450




Multiple Choice Questions

Use the following data to answer questions 23-25

Output (O) 0 1 2 3 4 5

Total Cost (TC) | T240 | X 330‘___3 410 < 4801.__} 5401___' < 610

90 ) %’ (4, — -10
.,2{] Diminishing marginal returns start to occur between units:

2 and 3. (b) 3 and 4.
(d) 5 and 6.

Multiple Choice Questions

26)  Which of the following statements is correct?

(a) When the average cost is rising, the marginal cost must also be rising.

yen the average cost is rising, the marginal cost must be falling.)(

When the average cost is rising, the marginal cost is above the average cost~
(d) When the average cost is falling, the marginal cost must be rising.

2}{ With which of the following is the concept of marginal cost closely related?
— —
La,\/ Variable cost. (b) Fixed cost.

(c) Opportunity cost. (d) Economic cost.




Multiple Choice Questions

r

o

28)

Total cost in the short run is classified into fixed costs and variable costs. Which one of the following is
a variable cost?

./ﬁdf Cost of raw materials. (b)  Costof equipment.

(c) Interest payment on past borrowings. (d) Payment of rent on building.

29)/Which of the following cost curves is never ‘U’ shaped?

(a) Average cost curve. (b) Marginal cost curve.
(c) Average variable cost curve. ,(,d-)/ Average fixed cost curve.

Multiple Choice Questions

30) Suppose the total economic cost of production of a commodity X is 1,25,000
Owh implicit cost 35,000, What would be the explicit cost of commodity?

.90,000 \%5ﬂ -
b) Rs. 65,000 25000
¢) Rs. 1,00,000 9000°

d) Rs. 60,000

_,Z'fj If there are Implicit cost of production: AP

Y4 Economic profit will be equal to Accounting Profit ) J«T
Economic profit will be less than Accounting profit -§P 4

¢) Economic profits will be zerg 24
d) Economic profit will be more than Accounting profit.

Saly - 100




Multiple Choice Questions

— .1
32) Cost is the Total Additional Cost that a Firm has to incur, as a result of

implementing a major managerial decision. o
a) Sunk

7 Tncremental -

c) Opportunity
d) Marginal - | add ou¥pd

33) Fixed cost are a function of:
a) Out T
¢) Time
d) They can never be changed

Multiple Choice Questions

34) cost includes the cost of resources for which the firm_is notrequired
to pay prices such as atmosphere, rivers, roadways, etc.
a) Private cost
M Social cost
c) Incremental cost
d) Sunk cost

‘Z’S‘; Costs incurred towards the salary of foremen will have a sudden jump if
another foreman is appointed when the output crosses a articular limit is an
example of:
a) Semiyariable cost

._,b)-ﬂ'{rs,tep variable cost
¢) Completely variable cost
d) Completely fixed cost

R —x
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Multiple Choice Questions

36)  Which of the following statements describes increasing returns to scale?

(a)  Doubling of all inputs used leads to doubling of the output.- Constent

(b) Increasing the inputs by 50% leads to a 25% increase in output. vamJ

_,.k.-)/ Increasing inputs by 1'4 leads to an increase in output of 1/3, - e -

Cas..
(d) None of the above. )

3}) In the long run, if a very small factory were to expand its scale of operations, it is likely that it would
" g L # | ——
initially expenence

(a) an increase in pollution level. (b) diseconomies of scale.

_(p/ economies of scale. (d) constant returns to scale.

Multiple Choice Questions

-
33] A firm's long-run average total cost curve is

(a) Identical to its long-run marginal-cost curve. A

(b) Also its long-run supply curve because it explains the relationship between price and quantity
supplied. X

“ In fact th& average tutal CDﬁl curve of the uptlmal glant in the shnrl run as it tries 10 pmdunﬁ- at
least cost

——

Jﬂ/ Tangent to all the curves of shor-run average total cost.

39) Economies of scale exist because as a firm increases its size in thgng run:

(a) Labour and management can specialize in their aclivities more. -™Mana mq’

4 As a larger inpul buyer, the firm can get ﬁnance at lower cost and purchase inputs al a lower
per unit cost. - Finend

(c) The firm can afford to employ more sophisticated technology in production. fe :.hmuj

™ Alof tese.




Multiple Choice Questions

e
(b)
(c)

{d)

40) The positively sloped (i.e. rising) part of the long run average total cost curve is due to which of the
following?

Diseconomies of scale. E ;\//‘ +iv Sl f”]

Increasing returns. =

The firm being able to take advantage of large-scale production techniques as it expands ils
oulpul.

The increase in preductivity that results from specialization.

(a)
(b)
(c)

1) fTT nggs;lww (i.e. falling) part of the long-run average total cost curve is due to which of the
ollowing

Diseconomies of scale. %
Diminishing returns. 2

The difficulties encountered in coordinating the many activilies of a large firm 24

\J,d)/T he increase in productivity that results from specialization.

Multiple Choice Questions

(a)
(b)

-

(d)

42) Which of the following statements concening the long-run average cost curve is false?

It represents the least-cost input combination for producing each level of output. v

It is derived from a series of short-run average cost curves.«”

v
The short-run cost curve at the minimum point of the long-run average cost curve represents
the least-cost plant size for all levels of output.

- — _—
As output increases, the amount of capital emploved by the firm increases along the curve.

a) 10
b) 30
c) 20

B

'1(3] Average Cost of Producing 50 units of a Commodity is 250 and variable cost is
10,000. What will be the average fixed cost of producing 100 units of the Commodity?

@0 TC: A% 50 ¢ - 10,000
- ‘:%0(;;;’500




Multiple Choice Questions

44) In the long-run, the Firm will decide on which SAC Curve it should operate to
produce a given output, so that its:
AC is minimum
b) AC is maximum
¢) MCis minimum
d) MC is maximum

45) Which one of the following is also known as Plant Curve?
a) Long-Run Average cost curve T
DFShort-Run Average cost curve
¢) Average variable cost curve
d) Average Total cost curve

Multiple Choice Questions

46) When LAC Curve is declining, it will be tangent to the:
,ai’ﬁalling portions of the SAC Curves
b) Rising portions of the SAC Curves
c) Both (a) and (b)
d) Neither (a) and (b)

47) Commercial economies is related with:
roduction of large volumes of goods requires large amount of materials and

components. - C S

b) A large firm has advantages over small firms in matters related to procurement
of finance for its business activities. - F

c) Large business with diverse and multi-production capability is in a better
position to withstand economic ups and downs - Risk bturirj

d) Large-scale production is associated with economies of superior techniques. -




Multiple Choice Questions

48) Different department can be further sub divided into separate sections like
sales can be split into separate sections such as for advertising, exports, and
customer service is an example of: o
a) Technical economies
m/lanagerial economies
c) Commercial economies
d) Financial economies

51:9] The LAC curve which envelops the family of SAC curve, is “U” shape because:
a) All SAC curves are U shaped

b) Law-of variable proportions
uﬂi’ﬁ:ﬁf Return to scale
d) All of the above

Multiple Choice Questions

50) A long run cost curve depicts the functio_El_l relationship between output
-

and____
a) Inputs
b) Short run average cost

)~ Tong run cost of production

d) Production function

chahler Ovel
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